SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| 460039
MATHEMATICS / 7Tfor

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue AfHaq 3id : 90

General Instructions:

(i)
(i)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

= A

) gz ifart 2 |
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U3l H SR 4 3Bl & 2 Ul # AU MU B | YD U H TP fAHT BT ThT BN |

dhegeiey BT YA affd 2|

Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

A number which is non terminating and non repeating decimal is called :
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(A) Natural Number (B) Rational number

(©) Irrational Number (D)  Integers
I8 HEAT Sl THId SR ST el © :

(A) hd HE&A (B)  UHF HWeE
(C) ruRwa wem (D) Uik

Zeroes of polynomial x2—2x are :
A 00 B) 0,2 <© 0 -2 (D)
TGIE x2—2x o IEAH |

(A) 0,0 (B) 0,2 C 0,-2 (D)

If a=7, then degree of the polynomial p(x) = (x —a)3 +343 is :
(A) 0 B) 2 © 3 (D)
I a="7 &, q IgIR p(x)z(x—a)3+343'°|ﬁ‘5|ﬁ% :

(A) 0 (B) 2 © 3 (D)

fr+¥=—1 (x,y #0), the value of xX3—1pis :
y o x
(Aa) 1 B -1 © 0 (D)
afg L4 Y= 1 (x,y=0), T‘hx3—y3 FHA T :
y x

A 1 B -1 © 0 (D)

Complimentary angle of 65° is :

(A) 25° (B)  35° (C)  45° (D)
65° T qXeh IV T I ¢ :
(A) 25° (B)  35° Q)  45° (D)

none of these

38 § 18 off Tl

N | =

N | =

115°

115°
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10.

11.

In APQR, if ZR > ZQ, then

(A) QR>PR (B) PQ>PR (C) PQ<PR (D) QR<PR
afe APQRH /R> Q@ I :

(A) QR>PR (B) PQ>PR (C) PQ<PR (D) QR<PR

The area of a triangle whose sides are 13 cm, 14 cm and 15 cmis :
(A) 42cm® (B) 86cm’ (C) 84 cm? (D) 100 cm?
Ife 19 1 omd 13 9., 14 F.1F 3R 15 A, 2, & ST &A% BT :-

(A) 42 {72 (B) 86 %.7.2 (C) 84w’ (D) 100 &2

The edges of a triangular board are 6 cm, 8 cm and 10 cm. The cost of painting it at
the rate of 9 paise per cm?is :

(A) Rs.2.00 (B)  Rs.3.00 (C)  Rs.2.16 (D)  Rs.2.48

s P ) 3 T 6 97, 8 A, o 10 95R. ¥ g v e O 4w ot A, @

(A) 2®9w (B) 3®UC (C) 2.16%wT (D) 2.48 =4y

Section-B

Question numbers 9 to 14 carry two marks each.

If x =+/2 —1 then write the value of x—1
X

Ifg x=v2-17, Ayt 1 UM 14 hifelq |
X

Factorize : a(a—1)—b(b—1)

UAEUE HIST : aa—1)—b(b—1)

Factorise : 3—12(a —b)2.

TUMEUE hITST : 3—12(a— b)2
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12.

13.

14.

In the figure given below, if AB||DE, then find the measure of /BCD .

D E
110°

100°

(@
smgfa #, aft AB||DE @, @ /BCD 1 =1 3@ %1

D E
110°

100°

C

In AABC, if ~A=50°and ~B=60° determine the shortest and the longest side of the
triangle.

fqe ABC H aifs /A =50° iR /B =60° %, a1 e &1 T8 i) U5 word 511 [N 9 o

OR
In the figure below, find x and y and then show that AB||CD.
A TN B
X
N\
C 116>\ D
fret TRt #, x e i % WM 9 wifs, qo sy fF AB||CD.
A TN B,
X
N
C 116\ D

The following table gives the number of pens and their
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15.

16.

corresponding costs. Plot these as ordered pairs and join them.

What type of graph do you get ?

Number of Pens 1 5 8

Price in rupees 3 15 24

=1 TR horel st e SR S WG Jod Tl § 1 37 ShiAd grE

3TeifEd HIfSTT | 39 o1 fae™ | fhe TR it Trehfd e aiedt © 2

Tl W T 1|5 8

F® TGE(EH)| 3 | 15 | 24

Section-C

Question numbers 15 to 24 carry three marks each.

4 . 4
If a= ——, find th | fa+ —=.
a S ind the value of a "
Uﬁ'a=i%\’,?ﬁa+é6ﬂﬂﬁaﬁﬁﬁﬂl
3—\/§ a

OR

Give an example of two irrational numbers whose :

(A) sum is rational

(B) product is rational

(C) quotient is rational

o=l 21 oTufti gemsil o Seetu sy fomen
(A) Ir ofem dem g1

(B) TPA T 9RHT TE@ ¥

(C) e U UREg He B |

Represent +/10 on the number line.

J10 =1 g T w fefud sifsw )
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17.  Factorise : 2x2+ 12+ 222 =22 xy + 22 yz — 4xz.

UFEUE HITST @ 202+ 12+ 222 — 22 xy + 22 yz — 4xz.

OR

If x= %1 is a zero of the polynomial p (x) = 27x3 —ax2 — x +3, then find the value

of a.

Ifg x = %1 a‘g”qap(x)=27x3—ax2—x+3wqmwé,a‘raaﬂmmﬁﬁm

18.  If x and y be two positive real numbers such that x > 3y, x2+9y2=369 and xy = 60, find the

value of x—3y.

IS x 3R y I IS AT AT T8 YRR ok x > 3y, 12+ 9y2 =369 3R xy =60 §, N x — 3y
A G Hiteg |

19. Show that the bisectors of the base angles of a triangle can never enclose a right angle.

Suiisq foh 1S o STER o <hivll < FHfgursteh et Wt 90° 1 =RIvT &l oI |

OR
In the fig if Z/GDH =x, ZDHK = (180 —1)° and ZABG = (x +y)°, then show AB || CD.

A C

E
x+y H/
B G %, K

D

3Tfd § /GDH = x, ZDHK = (180 — y)° 3{R ZABG = (x +1)° &, @ <21e€ f&f AB || CD.
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20.

21.

>
@]

E
x+y H/
B S0, X

D

In the figure below, the side QR of APQR is produced to a point S. If the
bisectors of ZPQR and ZPRS meet at point T, then prove that
ZQTR= 15 ZQPR.

P T

X

Q R s

amrfa H APQR &t 31 QR 1 S @& sigran mn g1 afe Z/PQR 3t /PRS & wnfgursis T R faew
% @ fag i fF QTR = 14 ZQPR.

P T

Q R §

In the figure, Z/BAC=34°, ZABC=30° and ZEDB=145°. Find x.
B

0 145°

34° >

3Thfa B, /BAC =34°, /ABC=30° 3R /EDB=145° & | x 1 HH J1d hifaq |

B
0 145°

340 >
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22.

23.

24,

A
sl
r
o>

'l J_
In figure AB L AE, BC L AB, CE=DE and ZAED =120°. Find
(@ ZEDC (b) ZDEC (c)Hence prove EDC is an equilateral triangle.
E
< ] A
v l_

3Thfd § AB L AE, BC_LAB, CE=DE @1 ZAED =120°. T HifsT |

(@) <EDC (b)  /DEC ()  of: fag SIS fo EDC T @Ay st ©

In the figure given below, if x+y=w+ 2z, then prove that AOB is a straight line.

=1 empfa # Afe x + y = w+ z %, 1 fag Fifsw fF AOB T et W@ ¥ |

A rhombus shaped field has green grass for 18 cows to graze. If each side of the
rhombus is 30 m and its longer diagonal is 48 m, how much area of grass field

will each cow be getting ?

T GHAQYSTRR o1 & @d H 18 Tl o = & fog =9 ot g8 8 | Afs g9ent woae osn 30 . qen
e < faenuf 48 M. ®, @1 J1a SifSTT foh Tclier T k1 39 W 1 foha T el =9 =14 o faentt ?

Section-D
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25.

26.

27.

28.

29.

Question numbers 25 to 34 carry four marks each.

2

If x=3+ /8, find the value of (xz + ij
x

afg x=3+ 8, [xz + iz] 1 T 1A IS |

X

OR
, show that bx2—ax+b=0

_Ja+2b++a-2b

If x =
* Ja+2b —+a—-2b

_Va+2b++a-2b - _
Ife x «/a+2b—\/a—2b%'?ﬁmbx ax+b=0

1

Ifa=7—4 3, find the value of Ja +
NA

aﬁ'a=7—4\/§%,a‘r\/§+% 1 A 14 SIS |
a

Find the remainder when 2x% —4x2+2x —5 is divided by x —3 and verify division algorithm.

TGS 223 — 4x2 + 2x — 5 Fl x — 3 T TaNTa T R IThA M@ HIFTC | 3T SR H1 S fF9qm
shar oty gr1 shifSIT |

If x2 + iz =7 find the value of x° + %
X X

afg x? +i2=7€r,?ﬁx3 +i36h‘rm=r T HIFTT |
x x
Show that 2x + 3 is a factor of 2x3+5x2—37x — 60. Find all the other factors of the polynomial.

T T 2x + 3, TGS 243 + 522 — 37x — 60 T T [UHEVE & | A= UHEUE oY H T |

OR

Verify : x3 +y3 + 23 —3xyz= %(x+y+z) [(x— )2+ (y—2)%+ (z—x)2].

Wﬁﬁﬁm:x3+y3+z3—3xyz=% (x+y+2) [(x—y)2+ (y—2)2+ (z—x)2].
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30.

31.

32.

33.

Plot the points A (1, 3),B (1, —1), C (7, —1) and D (7, 3) in Cartesian plane. Join them
in order and name the figure so formed.

fagai A (1,3),B (1, —1),C(7, —1) = D (7, 3) ! &ia a1 | Aif@d i@ qon g9 T o
e T 9 STRfd 1 AW ot SRy |

In figure below, ABCD is a quadrilateral in which diagonals AC and BD
intersect at O, then show that 2(AC +BD)>AB+ BC + CD + DA.

D c

A B

& T empfa #, ABCD t& =gy« & foad fasot AC qen BD wh @ &1 fog O W ufassg &t §, @t
g wifSg fon

2 (AC+BD) > AB+BC+CD +DA.

D C

AABC is an isosceles triangle with AB=AC. Side BA is produced to D such that AB=AD.
Prove that £BCD is a right angle.

st ABC ts wHfgarg fys €, fsa# AB=AC &1 s BA =i fag D T 38 YR aIgrn 71 & ff
AB=AD 21 fag =ifst fF ~BCD Ts Twahiv T |

In AABC, £C=90°. M is the mid point of AB as well as CD in the figure below. Show
that
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34,

A D

C B

() AAMC =ABMD

(i) DBC=90°

(iii) ADBC =~AACB

195t ABC &, £C=90° %1 9= AB @2 CD =1 M 77 fog €1 Twiisy
A D

C B

(i) AAMC ~ABMD

(i) DBC=90°
(ili) ADBC ~AACB

AB and CD are respectively the smallest and longest sides of a quadrilateral
ABCD (as shown in figure below). Show that Z/A >/ C.

D

B C

=g4s ABCD #, AB den CD w591 9o S1el Ud 9o 9 Yo € S1 f=1 smapfa | <wifan o &,
e fom LA >z C.

D
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